®

IKUKEI

Ml R

=3

S
)
)
)
X
S
X
©
c
£
Q
S
S
=




= O
= &n & 5| IKUKEI’
Products selection FES Tl E

{a B B8 =) i /R 12

Principle of Servo Electric Cylinder

EIAREE SRS RAREE A SRR LATF— LR RRRIL = 5, S RAREN e shiE
WL IZRHETNRIR R ELZLER, RESERRENYTR: B REFE ER AR S
TR, HENREES, HENMEETMEENENTS, EXITSBEELSHIES
MEfEatmm, A OZENREMAMESENN, SEHEMNREKE, SEHEREMTL,
A, RESIERE, WKESE, ABET, Drie, F8H, KEREH, ®/iEs, B
LR, BIZH, RmIlFaE.

Servo electric cylinder is a modular product which integrates servo motor and drive screw. It converts the rotational motion of servo
motor into linear motion through screw-nut transmission pair. At the same time, it transforms the characteristics of servo motor: precise
numerical control and precise torque control into precise speed control and precise position control. Accurate thrust control is a new
revolutionary product for realizing high precision linear motion control. It is widely used in aerospace experimental testing,
multi-degree-of-freedom dynamic entertainment, multi-degree-of-freedom precision processing, robots, automobile manufacturing
equipment, steel continuous casting, petrochemical industry, material handling, injection moulding machine and mould control. Valve
control, precision machine tools, pharmaceutical machinery, food industry and other fields.

W EHUREITE AT Calculation formula of motor torque

9549 x EBHIIHER(KW)

ERAEER
( $51:3000rpm/mim )

FEALERE(N.m) =

B 50515 RYERT Motor selection Guide

FEEEHEDTE AR
Formula for calculating of electric cylinder thrust
TEHHAEN.m) x 382R(0.85) x 2 Tt x KLY
LS#E(mm)

FHEFI(KN) =

P SEERE TR AT

Calculating for rated speed of electric cylinder

B (mm/seq) = FEAEEL(3E/min) X SA2(mm)
60F>

IR SRR REIAEE

Precision Conversion from Reducer to Electric Cylinder
faE(angle) = 53 (am) / 60

ME(rad) = AE(angle) /360 x2x3.14
LATHREE(mm) = IE(rad) x Z2HF442(mm)

RARRSEL - 189-1589-6797

OO 1 Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

B KEC016 -#5
...........................................................................
body width 30mm max stroke 200mm max loading 18kg

. KE 2 AURBEE 40mm
...........................................................................
5 body width 40mm max stroke 400mm max loading 40kg

AREEE 53mm

BRADLE 150k
B KEC0O40 - . e B

B KECO050 -7
...........................................................................
body width 65mm max stroke 1000mm max loading 300kg

AURBEE 75mm BAITIE 1200mm  SAfhE 500kg
B KEC063 - Sme ., Bxmuoonn BAS000. ...

m KECO080 -7
...........................................................................
body width 95mm max stroke 1500mm max loading 1000kg

AKRZEE 110mm
...........................................................................
. KE C 1 00 body width 110mm max stroke 2000mm max loading 1500kg

B FERZEITEEN

Safety operation attention

m sk

Reference

K72 200mm

K172 400mm

X172 600mm

FAITIE 1000mm

BAITIE 1500mm

BAITIE 2000mm

7= i & 5|

Products selection

3 contents

Contents

RAE 18kg

RASE 40kg

RALE 300kg

RAhE 1000kg

RAE 1500kg

‘m EARSHE TN

1. & #:

k 3‘E g:

S5—T2HEXRR--BIIR, BHME (FRBISEHEN ) . TR LTSIE.
2, BUBE : S—T2HEXRR--LTFREE. RETREFREE. B,
S5—T2HEXRER--BIIGE. “7SiE. )

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

00

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




IKUKEI’
=R ES

IEHNHSE | BLALIR =R !

This drawing is for reference only, and the actual product is the standard!

B 22X~ Guide for Model Selection

KEC016-C2.5—-S100—BC—2Z2P28 — MS3 — M1—C1 —

H

N

003

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

KEC &5l | | £1HEESER | | BRYTIE mm| | BARESN SikmhE Sk RRFFRINE | BRFFREE REAR BIRIEREST
Series model | | Accuracy class Stroke mm | |Motor install wa Motor brand Motor power Sensor switch | Sensor switch Qty Installation mode Output connection
i ?lémm C [MMICTR| | 9020 ||BC|ZixEmt| | P [ Panasonic| 05| 50w R M1 | R | | C1 | SMER
016 | 16 P |FREECS%
=5 —= A i MS | BitfEREs | 2 29 Bk
P pryer=rn BD | ZiAHEX | | M | =% Mitsubishif 10| 100W - M2| BEZZEE | | C2 | PR
30x30 | ool Screwtead Y | 22JIl Yaskawa |28| 28t S M3 | Bhat e C3 | mREsL
2.5)2.5mm E Rk
T | ek Deta 42| 42t PR v | Estaese | | ca | vams
X | JEtr/EfbmiE JEvE sl M5 | EEREH C5 | iFaiEk
= Sensor type
-z feEmramen| M F MD|RISEF | | CX| 3piwEs)
7 NPN
x| TRE MX| JFtRER)
P | PNP
B| wHE IREEEY ]
Output connection

b —

K |RBRmE
2, 3, 5.

R [rEmE
2, 3. 5.




C1 : HMERE

IKUKEI’

Fere DAV

B EA##& Specification

RN EHREE < JRR MR >

5i$DJ$AC(W) Motor power AC (W) 285‘3}_ 28 ii& 50W
k% N.m Rated torque N.m 0.07 0.14 0.16
TRERLLFF-9M2 mm Balscrew diam 8

NPN

NKIERIT, ¢
{ﬂé) .

ESEMBE MM Repeatabiliy C4% (C7) +0.02 P (C5) +0.01
RS2 mm BallScrew Lead 2.5 2.5 J—
BRIEE mm/sec MaximumSpeed N

LiX%£183000rpm/mim - Motor Speed 40/ 80 it 125 -
BUEHEND N RatedThrust(N) 149 /298 340 —

AKIETIT,

{ﬁ@
PNP

BHITIE mm  Effective stroke 50~200 ( 50/afginterval )
IE=lRAvES Home Sensor WEREEE  Magnetic sensor

|

+IE
.ﬁiﬁ
B2e 1 bc
T 5~24V
T
l = -
2]

Bwn S AN

\ ATIZEBI 1008, SFEAEIRATIRIR, HERHEISEE R
v U EEEEMBERTISEEMNME, WiTEMK, NESEMBEELRK;
v ERIMEZEEAHNKS TER, ARANESHRSHFSERERR, URHREELNY;
« EMARERIE, HIBRNRTRERRE, SFEERKMRNDIAEEE;
+ When the stroke is over 100mm, the run-out of the ball screw will occur. We recommend to low down the working speed under this circumstances.
+ Above repeatability is within strok 300mm.,if logner travel needed, it willbe lower;
+ Please cooperate with external guide rail or guide rod and others guide device asured the Straight movements;
+ Please note figure 2 motor size is same with table 1, or needed to replace coupler and motor holder.

B B5LEEIEEASE Anti-rotating Accuracy

E— : WO L EAESE

Anti-rotating Accuracy of Rod

_

MERMEREEETAZERAN, AABTRRIERGERER,
% Avoid using the electric actuator in such a way that rotational torque would be applied to the piston rod.This may cause deformation of the
Anti-rotating guide, abnormal responses of the auto switch, play in the internal guide or an increase in the sliding resistance.

E— : SEFEERALEEEE

Anti-rotating Accuracy of Plate

A

=

B —

SHENFRRESE, NEBNER, HfmEREmEsER.

B 5iimEEAT, Front-end connection mode

C2 : IR

+0.05°

M10x1.25 M8x1.25

q Y =

g 35

= Q%

]
] N
N
—
&
20 25 p
30 ©

KEC016

KEC025

KEC040

KEC050

KEC063

M8x1.25

KEC080

C3: &fREsL C4 : YEUESL C5 : iFamEsk
F-M8x125U F-M8x125Y F-M8x125F
[ 1/ - I
e e e e L .
16 @8H9 16 S 6
32 = i
42 H s
48 < S U
—
36 & o8 51
> -
K wa
A\ =

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

KEC100

KEC125

00




IKUKEI’
=R eSS

' B
BC.EiXEEk N
{7 (mm)
M1 : Bilim 55 & 5
030 M10x1.25
— I I =
L@E
mikE | L=134+0798  [30] O
o J
e . . ™
BC.SiXEEL .
{7 (mm)
M2: BIE=R %
030 5  M10x1.25
| |
| |
L "
10 209 &
N
ke | L=131+1T8 |36
. J
e . . D
BC.EiAEEL
7 (mm)
M3: EPzC R RE 2R 4
o X M10x1.25
L e
- D
67+1772 208 &
: ‘ )
ﬁﬂlﬂ&fé L=131+17%8 |36
N\ J

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

- B
BC:EiAEEX n
{7 (mm)
M4 : H 5l % 4%
2-610g6 030 M10x1.25
—1 bl =
L=75+(7%2 || |20 &
MAKE| L1345 |30
_ W,
- - i ~
BC:OiAEHEL N
{7 (mm)
M5: EEREdhZ 4
65 E
M10x125 030 %‘h\ 5
o @) i
o 1 | | T—1
n I 1 11
10301 =l 20 10 il il
19.8 30| L=134+7%2 |k |30
N Y,
- : ; D)
BC: ik EIEE
A7 (mm)
N W,

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’

Fere DAV

~
{7 (mm)
1 030  M10x1.25
~
0
30 20
s Q
L=115+{752 |30
\_ J
e . : ™
BD:LhiAFHEX -
{7 (mm)
JEWIEN N2 o
M2:BE=R %
M10x1.25
~ 5 el
[ce)
d S
30| 10 s 8
AN
L=112+1T#2 | 36
\_ Y
e . i a\
BD: Dk 1Ak *
A7 (mm)
M3: EMK R PE 22 %
42
. . M10x1.25
4-34.5 5
9 o LI08V 4.6 :
~ «| ©
- D
3 46 vl 30| |67+17R 20 9 §
60 ©
L=112+1712 | 36
\_ J

007

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

¢ N
BD:ShiAFHEX .
{7 (mm)
M4 : B 5% %
30
2-610g6 ) 030 M10xL25
o
+—1OF
3
L=75+{7i2 20 &
L=115+7 |30
~ W,
s . : ™
BD:EiAFHEX -
{7 (mm)
M5: EEIE R
46.5
030 [ ]
° 20
e (=) 1 51
= _H \J10H7
| 103£0.1 M10x1.25 20 5
19.8 134 ]
30| L=119+f3%8 Do
~ Y
e . : N
BD:EiAFEX
A7 (mm)
~ W,

RARRSEL - 189-1589-6797 00

Technical Service Line www.china-kuke.com




IKUKEI’
=R ES

IEHNHSE | BLALIR =R !

This drawing is for reference only, and the actual product is the standard!

B 22X~ Guide for Model Selection

KEC025-C02—S100—BC—ZP10B—MS3 — M1— C1 —

H

N

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

KEC &5l | | £1HEESER | | BRYTIE mm| | BARESN SikmhE Sk RRFFRINE | BRFFREE REAR BIRIEREST
Series model | | Accuracy class Stroke mm | |Motor install wa Motor brand Motor power Sensor switch | Sensor switch Qty Installation mode Output connection
i ?lémm C |MAICTHR| | P10 || BC|Zizmmt| | P |[# Panasonic| 05| sow R M1 | R | | C1 | SMER
025 | 25 P |BREEC54
=5 —= A i MS | BitfEREs | 2 29 Bk
P pryer=rn BD | ZiAHEX | | M | =% Mitsubishi 10| 100W - M2| BEZZEE | | C2 | PR
a0xa0 | [ Dol Screwlead Y | 22Il Yaskawa [20| 200w Sl L M3 | Bhat e C3 | mREsL
02 | 2mm E RS
oa T amm T | &% petta  [40| 400w PR v | Estaese | | ca | vams
X | JEtr/EfbmiE 57-@8 JEvE sl M5 | EEREH C5 | iFapiEk
57 Sensor type
*Z. RFREFBEREN 57-26.35 = | nen MD| RIS CX | AEtrEH)
s - —
Brakes P PNP MX| JEARES
x| FTRE IRIELY ]
Output connection
B | wWHIE

b —

K |RBRmE
2, 3, 5.

R [rEmE
2, 3. 5.




IKUKEI’

Fere DAV

B EA##& Specification

RN EHREE < JRR MR >

SATOERAC(W)  Motor power AC (W) 50W 100w —
k% N.m Rated torque N.m 0.16 0.32 _
RERZAT-9MR mm Baliscrew diam 10

NPN

NKIERIT, ¢
{ﬂé) .

»L

4

+1E

DC

F 5~24v

AKIETIT,

{ﬁ@
PNP

ESEMAREE mm  Repeatability C (C7) £0.02 P4 (C5) +0.01
R SHE mm Balscrew Lead 2 4 _
Sistmsooopmmim oo | 100 200 —
BUEHEND N RatedThrust(N) 427/ 854 213 /427 —
BITIE mm  Effective stroke 50~400 ( 50[Efginterval )
[RRURRRIER Home Sensor HEMAEREEE  Magnetic sensor

|

Bwn S AN

\ ATIZEBI 2000, SFEAESRATIRIR, ERHEEE R
v U EEEEMBERTISEEMNME, WiTEMK, NESEMBEELRK;
v ERIMEZEEAHNKS TER, ARANESHRSHFSERERR, URHREELNY;
« EMARERIE, HIBRNRTRERRE, SFEERKMRNDIAEEE;
+ When the stroke is over 200mm, the run-out of the ball screw will occur. We recommend to low down the working speed under this circumstances.
+ Above repeatability is within strok 300mm.,if logner travel needed, it willbe lower;
+ Please cooperate with external guide rail or guide rod and others guide device asured the Straight movements;
+ Please note figure 2 motor size is same with table 1, or needed to replace coupler and motor holder.

B B5LEEIEEASE Anti-rotating Accuracy

E— : WO L EAESE

Anti-rotating

Accuracy of Rod

_

MEMARTER R EEMAZERAN, EABTRESIEMRGRERER,

% Avoid using the electric actuator in such a way that rotational torque would be applied to the piston rod.This may cause deformation of the

E=

: SETEERIIFLLEIEEEE

Anti-rotating Accuracy of Plate

(2 /Dt

RN

B —

SHENFRRESE, NEBNER, HfmEREmEsER.

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

Anti-rotating guide, abnormal responses of the auto switch, play in the internal guide or an increase in the sliding resistance. KEC016
B BiimiEE ST, Front-end connection mode KEC025
C1 : HMEL C2 : Pty C3 : mpREL C4 - YEUZL C5:iFamEsl Ll
M12x1.25 M12x1.25 F-M10x125U F-M10x125Y F-M10x125F
KEC050
~ | T Y < _I/ [ I Sl wn
g & — ] 3 HI \ -3l & 9 » 8 KEC063
— =il — — —
Q [ 20 @10H9 20 g 1L 6 | &
s — 5" 40 g [ IR <coe0
A4 . o —2 5
N 3 56 3 = . KEC100
3 43 3
24 s s @10 58
1/ KEC125
52 35 o XA ©
|7 &% N

01




IKUKEI’
=R ES

~
7 (mm)
M12x1.25
040
=——
©o| 1
18 LA 8 %
o
| BHKE | L=183+(72 52 =
- J
r . ; B
BC:SiXEEX .
{7 (mm)
M2: ASE=RE
10 M12x1.25
407 B0 3
— T
Bl T
L 1 e
55 ug &
70 12 e
AR | L1894 |37
N\ J
e . : B\
BC:IiAETR: X
B (mm)
M3: EPREE R 3
M12x1.25
5 040
o 4-58 ]
al o LIg1075.7 =— g8
& i - o ©
' 24
o |Lss Lo Sk
70 112.5+17%8 || 37 | ©
EEUKE L=189+171&
o J

011

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com



IKUKEI’
=R Z VeSS

e N\
BC.OAEEX N
B (mm)
M4: B3R %
040 M12x1.25
/2
Se=—=
n
=
S
112.5+17%8 =
| UK L=183+{7%& 52
o J
4 . . N\
BC.EiAEEL .
B (mm)
M5: EERE H 4
M12x1.25 040 %:\
[ i —. R105
=R I = §
" = - @10H7
o 24 9
@ 18 12
=
52 L=183+EEHKE EBNIKE+7.5| 34
. J
4 . . N\
BC:SikEEX
B (mm)
MD : Bij S [al4F
30 12
8-M5 040 H
o O\ —]|[H
q 59 5 ==—1l| g
4_07.."”0.-“-. |l =S~ H|| ~
. @, —] |5
25 12
40 |EAKE | =177+ | 44
N\ J
BAIRESEZ : 189-1589-6797 01
Technical Service Line www.china-kuke.com

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




013

Fere DAV

IKUKEI’

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

p 2
BD: & XFfEk N
{7 (mm)
M1 : Bl s &2 5
a-mav1o [§&H N =1 5490 mias
—
£ =
‘ NERE
35 8| [T 8 F
o
L=159+4718 | 52 =
g J
- : ‘ ~
BD:SiAFEL N
{7 (mm)
M2:BE=2R %
N f od0,  mi2xzs
o q
—
[ J2agm=
135 12 ]
L=165+/78 |37 =
L Y,
s : - N
BD: & XFfEx N
A7 (mm)
M3: B S R 22 %
52
N M12X1.25
4-05.8 -
LIg10%5.7
%I i ©o| \n
QT 55 ™ 8 fé
70 L=165+f72 |37 =
9 J



IKUKEI’
=R Z VeSS

- N
BD: Sk FHEX -
{7 (mm)
M4 : B 5% %
52
S 201006 o [M=-d 20 wmi2a2s
1 —
' P E
25 135 18 ol 3
80 112.5+{752 s
L=159+17%& 52
o J
- : i ~
BD:ShiAFEX -
{7 (mm)
M5: EEREdhZ 4
50
M12x1.25 T ]
S =0 | RI105
= == X @10H7
24 T
26+0.1 o 7‘J 18 5
45 S 35
52 | L=159+f778 22
N J
- : : D)
BD: Sk FHEL -
A7 (mm)
MD : B S [a)4F
12
040 =
: ——] [E
o~ H| S
" Lot L= H[| =
35 ':E_ﬂ:
12
L=153+1772 44
. J
BARSEE : 189-1589-6797
Technical Service Line  www.china-kuke.com 01

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




IKUKEI’
=R ES

IEHNHSE | BLALIR =R !

This drawing is for reference only, and the actual product is the standard!

B 22X~ Guide for Model Selection

KEC040- C05—S100—BC—ZP20B— MS3 — M1— C1 —

H

N

KEC &5l | | LIHEESR | | BRYTIE mm SikmhE RAVEIES e REAR BIRIEREST
Series model | | Accuracy class Stroke mm Motor brand Motor power Sensor switch Qty Installation mode Output connection
€ f2mm || C [BICTR| | o0 10ne P | Panasonic| 10 1] M| Az | | C1 | MBS
040 | 40 || P |mECSH ——] 2| 2n o
P pryer=r M | =2 Mitsubishi 20 - M2| BEZZEE | | C2 | PR
Sax53 | | ool Screw Lead v | )1l Yaskawa |40 S M3 |Eistire | | 3| mmmEs
05 | 5mm RS
10 | 10mm T | 81K Delta |75 PR M4 | EistEess | | C4 | YRUEL
X | JEtr/EfbmiE JEvE sl M5 | EEREH C5 | iFaiEk
57 Sensor type
*Z. RFREFBEREN MD| IS miF CX | AEtrEH)
7 NPN
MX| JFtRER)
P | PNP
% maty |
Output connection
B

015

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

b —

K |RBRmE
2, 3, 5.

R [rEmE
2, 3. 5.




IKUKEI’

Fere DAV

B EA##& Specification

RN EHREE < JRR MR >

IHATNERAC(W)  Motor power AC (W) 100W 200W 400W
k% N.m Rated torque N.m 0.32 0.64 1.27
TRERZLAT-9MR mm  BaliScrew diam 12

NPN

NKIERIT, ¢
{ﬂé)

»L

4

+1E

DC

F 5~24v

LiX%£183000rpm/mim - Motor Speed

ESEMBE MM Repeatabiliy C4% (C7) +0.02 P (C5) +0.01
RS2 mm BallScrew Lead 5 10 J—
BIRIEE mm/sec MaximumSpeed 250 500 .

AKIETIT,

{ﬁ@
PNP

SEHE N RatedThrust(N) 341/683 /1355 170/341/678 —
BYUTIE mm  Effective stroke 50~600 ( 50/&fginterval )
RS Home Sensor WEREEE  Magnetic sensor

|

RE

Bwn S AN

\ ATIZEBI 2000, SFEAESRATIRIR, ERHEEE R
v U EEEEMBERTISEEMNME, WiTEMK, NESEMBEELRK;
v ERIMEZEEAHNKS TER, ARANESHRSHFSERERR, URHREELNY;
« EMARERIE, HIBRNRTRERRE, SFEERKMRNDIAEEE;
+ When the stroke is over 200mm, the run-out of the ball screw will occur. We recommend to low down the working speed under this circumstances.
+ Above repeatability is within strok 300mm.,if logner travel needed, it willbe lower;
+ Please cooperate with external guide rail or guide rod and others guide device asured the Straight movements;
+ Please note figure 2 motor size is same with table 1, or needed to replace coupler and motor holder.

B B5LEEIEEASE Anti-rotating Accuracy

E— : WO L EAESE

Anti-rotating Accuracy of Rod

_

MERMEREEETAZERAN, AABTRRIERGERER,
% Avoid using the electric actuator in such a way that rotational torque would be applied to the piston rod.This may cause deformation of the
Anti-rotating guide, abnormal responses of the auto switch, play in the internal guide or an increase in the sliding resistance.

E=

: SETEERIIFLLEIEEEE

Anti-rotating Accuracy of Plate

(2 /Dt

e T

B —

SHENFRRESE, NEBNER, HfmEREmEsER.

B 5iimEEAT, Front-end connection mode

C1 : HMERE
M16x1.5

M16x1.5

20 32

68

C2 : IR

M14x1.5
o~
N ~N
—
38
[
S
_ll_
< "
—
3
—
25 =
48 N

C3 : &Rk C4 : YBUzESL C5 : iFaniesk
F-M16x150U F-M16x150Y F-M16x150F
[/ ]
=S iz T m
_— o 27_ 5
28 @16H9 32 & 19 8| &
64 s s KECO080
80 2 .
3
x
o g 16 90
|7 &% <

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

01




IKUKEI’

Fere DAV

N
B (mm)
/D—53 M16x15
B 32| &
20 e §
| FEHKE L=220+1TF2 68 by
A J
e . . ™
BC:SiXEEX n
{7 (mm)
M2: BIE=R %
o53
. 4-@9 —— 5 M16x1.5
o 3[690@0 =
PPN =
2
70 15 e B
90 - 3
BKE L=210+17%& 55 A
\ J
e . . D
BC.SiAEEL
7 (mm)
M3: EMNREE R 5%
26 053
ya— M16x1.5
B Q
14 || 165+ || 32| 'S
A L=210+/712 55 s
\ J

017

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

B D
BC.ZiAEEL v
{7 (mm)
M4 : Eif& s
2-014g6 as3 M16x1.5
) A —=
\&/i \d
= 32| g
75 L=141+{TF2 20| °'s
100 "
| B L=220+{772 68 e
L J
s . : ™
BC.EiAEEL v
{7 (mm)
M5: EERE R %
M16x1.5 053 E‘i 9
. - o /[ = RI12
o — [ [l
S LR @12H7
O ® .
S 132 B
| 1] l2sz01 I 2 15
52 © BHKE
% 68 L=220+{718 +75 | 40
L J
e . ; N
BC.TLIARR
A7 (mm)
MD : B S [E)4F
30
- -1
= 053 =0
8-M5 @ |
g =tk
oO| N| O [¢] o
SAEERE : H1 =
= KEC063
4-M6 :E ] -
0 —
50 16 ||
65 L=EIAKE L=220+{712 50
w
L J

RARRSEL - 189-1589-6797 01

Technical Service Line www.china-kuke.com




IKUKEI’
=R ES

Ve I\
BD: & XFfEk N
{7 (mm)
M1 - BT B 22 5
= 053
E d /7 M16x1.5
4-M67 12 =
32| g
40 20 sl o
3
L=194+/T72 68 @
\_ J
e . i Y
BD:ShiAFEX N
{7 (mm)
M2: BIE=R %
e o c% /Df53 5 M16x1.5
—
e ﬂaoﬁQOeB"
° mEﬂB S =
4-29 32| ]
70 = Yo
0 40 15 S
L=184+17%2 55 g
\_ J
e . i A\
BD: & XFfEx N
A7 (mm)
M3: EPzC R RE 2R 4
7 40
ol
(Y ]
N, & it /5—53 5 M16x15
o -] —
ol -
1o
; 8
0 ©lo
“l1a || 1neseEr || [32) R
L=184+{7i2 55 °
\_ J

RARRSEL - 189-1589-6797

O 1 9 Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

- N
BD: Sk FHEX -
{7 (mm)
M4: B3R %
053 M16x1.5
2-014g6 3 c% /S e
A =
N
32| ©
75 20 [32] ol o
()]
100 40 | | L=141+4778 0
S
L=194+1718 68
o J
e . . ™
BD:ShiAFEX -
{7 (mm)
M5: EEIE R ﬁ
® ®
M16xL5 53 ]
o % 9
- e @ \ [ R12
@ ° = LT\ @12H7
e 2 P 20 45
>2 ° L=199+1T%2
20 68 = 7 25
. J
e . . D
BD: Sk FHEL -
A7 (mm)
MD : B S [a)4F
g-ms5 30 14
| l =__
S = e =L
20 — ||
4-M6 /|| 50 16
65 L=194+1772 50
N\ J
BAIRESEZ : 189-1589-6797 02
Technical Service Line  www.china-kuke.com

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




IKUKEI’
=R ES

IEHNHSE | BLALIR =R !

This drawing is for reference only, and the actual product is the standard!

B 22X~ Guide for Model Selection

KEC050-C10—-S100—BC—ZP40B— MS3 — M1— C1 —

H

N

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

KEC &5l | | LIHEESR | | BRYTIE mm SikmhE RAVEIES e BIRIEREST
Series model | | Accuracy class Stroke mm Motor brand Sensor switch Qty Output connection
i fZmm || C (55()0%%%(; ¥AR Panasonic 1 14 C1 | JMBEL
050 | 50 ||P —————— o PN
Py pryea=re =% Mitsubishi — C2 | PigLL
65x65 Ball Screw Lead 21| Yaskawa 3 31 c3 | mmpEsL
05 E=
10 Ak Delta TR C4 | YEuESL
16 IEt/EERRE SVE i) C5 | ZapfEsk
20 Sensor type
*Z. RFREFBEREN CX | IEtREH!
7 NPN
P PNP

IRELE

Output connection

b —

K |RBRmE
2, 3, 5.

R [rEmE
2, 3. 5.




IKUKEI’
=R Z VeSS

B EA##& Specification

DATHERAC(W)  Motor power AC (W) 200W 400W 750W
k% N.m Rated torque N.m 0.64 1.27 2.39
RERZAT-9MR mm Baliscrew diam 16

ESEMAREE mm  Repeatability C (C7) £0.02 P% (C5) +0.01
RERAFTSAZ mm Baliscrew Lead 5 10 16 20
Sistmsooopmmin Lo | 250 500 800 | 1000
e N RatedThrust(N) 683/1355/2550 | 341/678/1275 | 213/423/797 | 170/338/638
BRYTIE mm  Effective stroke 50~1000 ( 50[&Epginterval )

RS Home Sensor WEREEE  Magnetic sensor

RN EHREE < JRR MR >

NPN

ANFKIETRIT,
{ﬁ@
PNP

|

NI
&) ° +E
.
= b
F 5~24v
T
| B .
-
B

N e N

\ ATIZEBI 2000, SFEAESRATIRIR, ERHEEE R
v U EEEEMBERTISEEMNME, WiTEMK, NESEMBEELRK;

v ERIMEZEEAHNKS TER, ARANESHRSHFSERERR, URHREELNY;
« EMARERIE, HIBRNRTRERRE, SFEERKMRNDIAEEE;

+ When the stroke is over 200mm, the run-out of the ball screw will occur. We recommend to low down the working speed under this circumstances.
+ Above repeatability is within strok 300mm.,if logner travel needed, it willbe lower;
+ Please cooperate with external guide rail or guide rod and others guide device asured the Straight movements;
+ Please note figure 2 motor size is same with table 1, or needed to replace coupler and motor holder.

B B5LEEIEEASE Anti-rotating Accuracy

Anti-rotating

MEMARTER R EEMAZERAN, EABTRESIEMRGRERER,

E— : WO L EAESE

Accuracy of Rod

_

E=

: SETEERIIFLLEIEEEE

Anti-rotating Accuracy of Plate

(2 /Dt

RN

-
SHEHFEARNREE, NEBHNER, FEmismkEmiEsmEi.

% Avoid using the electric actuator in such a way that rotational torque would be applied to the piston rod.This may cause deformation of the
Anti-rotating guide, abnormal responses of the auto switch, play in the internal guide or an increase in the sliding resistance.

B 5iimEEAT, Front-end connection mode

C1 : HMERE
M20x1.5

JEP

25

M20x1.5

40

85

C2 : IR

M20x1.5

=
i

M20x1.5
25

JEP

34

C3:
F-M20x150U

ARk

30

] o0l

N
=

@20H9

M20x1.5

46

KEC016
KEC025
C4 : YEUESL C5 : Fohkzsk KEC040
F-M20x150Y F-M20x150F
SEith ceooss
[ Qs KECO063
\ S
— bt B 295
40 S 22 10| &
80 s s KECO080
102 —H o .
! gl t KEC100
X
8 220 102
= —‘@ KEC125

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

02




023

IKUKEI’
=R ES

- N
BC.OiXEHEL N
{7 (mm)
M1 - BT B 22 5
4-M8V12 1 /LGS M20xL.5
i % .Eﬁ‘ﬁ_ .
() [Ce} I 1T L
< i Ej_ =
46.5 23 404 < R
: L=FEHSEE L=246+{TF2 85 3
o J
e . . ™
BC.SiXEEL .
{7 (mm)
M2 B E=%%
429 S /D—ei 5 M20xL5
n % e o I 1
oL Bi— =
GB@@J@ FT % o
80 15 L40| ® g?
100 L=RBHUKEE L=241+{752 65 ©
. J
e . . D
BC.EiAEEL
7 (mm)
M3: EPzC R RE 2R 4
- 30 /5—654, 5 M20xL5
in 4-09 %
Q w ig%izt LIB15v 9 { }
g _ e
8W 85 L=135+1752 la0] *® .3
105 L=FEHKE L=246+{Ti& 65 s
N\ J

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

p D
BC.SiXEEL .
{7 (mm)
M4 : Eif& s
065
; e _ /a M20x1.5
&) | ] So
% L=145+{742 40 e@‘”
130 L=EBH SR L=246+1772 85 ©
Y J
e . ; ™
BC.EXEEk N
{7 (mm)
M5: EERE H %R 4%
M20x1.5 065 29
o «h < P2 /- — M3 17 R12
W‘ﬁ o : _E
&ﬂ = Te—— @12H7
© | & =
L L[ 3201 8|31 |40 |23 20
S
60 85 L=246+1T& L= KE+75| 47
110 ‘
S J
e . : A\
BC.SiAEEL
7 (mm)
MD : BT S [E14F
F’S_OT 14
8-M5 ol I 65 ] i
= = —{ | =
dlefleazs Bl
4-M6 | o C— ] =
o 16 | |
65 L=EE:HH§J§ L:246+?T*E=EI 59
Y J

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

02

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




IKUKEI’

Fere DAV

- D
BD:EiAFEX -
B (mm)
M1 : Bilim 55 & 5
065
4-M8V12 § c% M20x1.5
— e |
€ S T B+
Qo
46.5 47 23 |40 eI @
87 L=207+47#8 85 3
- J
s . i ™
BD: S FHEL .
B (mm)
M2:BE=R %
i
4-99 & c:%ﬂ, 5 M20x1.5
© 3[ : | IR
(@
Al ©
47 15 40 s
L=202+132 65 3
N\ J
- . i B
BD:ShjAFHEX N
7 (mm)
N3 B R R 5 .
)
> %
& 9 5 M20x1.5
4-99 . .
w 1/ Lo15v9 ' | —
g i % ©
3 . L=135+¢7#2 [| 40| ® S
N < L=207+{772 65 3
o J
BAIRESEZ : 189-1589-6797

025

Technical Service Line

www.china-kuke.com




IKUKEI’

Fere DAV

~

/
BD:SyiAFtEX -
B (mm)
M4: EihZ 4
g pd o5
3 M20x1.5
<l L
—— . =
9 &
L=145+/7%2 |25 |40 =
130 L=207+{7%2 85
- : \
BD:EiXFEk -
B (mm)
M5: EERE dhE %
2 M20x1.5 565% 10
|
olS “UEJE'_ ] T12H7
()]
e 125 55
© L=215+{372 27]
s : -
BD:SyiAFtEX
A7 (mm)
MD : B S [E)#F
| =
= 238 5 2 IEE
| [ ] =
Zg 16 14
L=207+1T%8 59

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

02

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




IKUKEI’
=R ES

IEHNHSE | BLALIR =R !

This drawing is for reference only, and the actual product is the standard!

B 22X~ Guide for Model Selection

KEC063-C10—S100—BC—ZP75B—MS3 — M1— C1 —

H ||| ||| H|_|||||

KEC &5l | | £1HEESER | | BRYTIE mm| | BARESN SikmhE Sk RRFFRINE | BRFFREE REAR BIRIEREST
Series model | | Accuracy class Stroke mm | |Motor install wa Motor brand Motor power Sensor switch | Sensor switch Qty Installation mode Output connection
i ?lémm C |MBICTHR| | P10 || BC|ZizEmt| | P |#F Panasonic| 20| 200w R M1 | R | | C1 | SMER
063 | 63 P |BREEC54
=5 —= A i MS | BitfEREs | 2 29 Bk
& oo pryer=rn BD | ZiAHEX | | M | =% Mitsubishif 40| 400W - M2| BEZZEE | | C2 | PR
75x75 | oo screwlead Y | 22)Il Yaskawa |75| 750w Sl L M3 | Bhat e C3 | mREsL
05 | 5mm E FRAN
10 | 10mm T | BiX Delta 100| 1000W TR M4 | Bfpstzess C4 | YEUEL
20 | 20mm X | dEi/EAbERRE | 57| 57HBE mimrssR || | M5| BERE C5 | iZamEsk
Sensor type
«Z: KFREFBECENL | 86| 865 = | neN MD| RIS CX | AEtrEH)
5 & - —
grakes p PNP MX| JFtRER)
x| FTRE IREEEY ]
Output connection
B | WHE = —
K | R
2. 3. 5.
N . R MBI
FARSELL © 189-1589-6797 2 3 5.

027 Technical Service Line www.china-kuke.com




IKUKEI’

Fere DAV

B EA##& Specification

RN EHREE < JRR MR >

DATHERAC(W)  Motor power AC (W) 400W 750W 1000W
k% N.m Rated torque N.m 1.27 2.39 3.18
RERZAT-9MR mm Baliscrew diam 20

NKIERIT,

{ﬂ@)
NPN

BEEEMEE mm Repeatability C4 (C7) +0.02 P4 (C5) +0.01
RERLLATSHE mm BallScrew Lead 5 10 20
BIRIEE mm/sec MaximumSpeed

DA%EE3000rpm/mim  Motor Speed 250 500 1000
e N RatedThrust(N) 1355/2550/3395| 678 /1275/1697 | 338 /638 /848

BRYTEE mm

Effective stroke

50~1200 ( SOiElfRinterval )

Home Sensor

HiMERESE  Magnetic sensor

AKIETIT,

|

{ﬁ@ {
PNP

’—"7 O +1F
7 %]
ae 28 |
T 5~24V
2
| Ee -
Re

N e N

\ ATIZEBI 2000, SFEAESRATIRIR, ERHEEE R
v U EEEEMBERTISEEMNME, WiTEMK, NESEMBEELRK;
v ERIMEZEEAHNKS TER, ARANESHRSHFSERERR, URHREELNY;
« EMARERIE, HIBRNRTRERRE, SFEERKMRNDIAEEE;
+ When the stroke is over 200mm, the run-out of the ball screw will occur. We recommend to low down the working speed under this circumstances.
+ Above repeatability is within strok 300mm.,if logner travel needed, it willbe lower;
+ Please cooperate with external guide rail or guide rod and others guide device asured the Straight movements;
+ Please note figure 2 motor size is same with table 1, or needed to replace coupler and motor holder.

B B5LEEIEEASE Anti-rotating Accuracy

E— : WO L EAESE

Anti-rotating Accuracy of Ro

B —

MEMARTER R EEMAZERAN, EABTRESIEMRGRERER,

d

E=

Anti-rotating Accuracy of Plate

: SETEERIIFLLEIEEEE

% Avoid using the electric actuator in such a way that rotational torque would be applied to the piston rod.This may cause deformation of the
Anti-rotating guide, abnormal responses of the auto switch, play in the internal guide or an increase in the sliding resistance.

B 5iimEEAT, Front-end connection mode

C1 : HMERE

M30x1.5

M30x1.5

JEP

C2 : IR

M30x1.5

R25

=
-

M30x1.5

JEP

25 45

95

34

30

M20x1.5

( @ ®
far p N/m +0.05°
N LJ\W& -
@ @
-
SHENFLRERE, NIBNER, HmEREmiER,
C3:mEEL CA:vEEES C5 - AL
F-M20x150U F-M20x150Y F-M20x150F
] i1y oofn =
Fh s TRl 3 : SV <cCos3
33 @20H9 40 S 22 10| &
80 s s KECO080
102 HH @ .
100 9 ° -
77 3
S 20 102
|7 &% <

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

02




IKUKEI’

Fere DAV

N
B (mm)
% /9—75 M30x1.5
= = "3 =
=24 :
25| | 45 B
L=EIARE L=255+{72 95 s
L W,
- - i ~
BC.EiAEEL v
{7 (mm)
M2:BE=2R %
4-g11 i rﬁj /D—75 5 M30xL.5
- o
o e
I 20 45 u:%’
110 L= L=256+/572 75 ©
L Y,
- : ; D)
BC.EiAEEL
7 (mm)
M3: EMK R PE 22 %
% /5—75 5 M30xL5
) N o = % S
IR A\ ST A T = :
<
i 45 S
5] | 100 | L=145+/72 || 10 3
130 L=EEIH<EE L=256+1T% 75
L W,

029

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

P B
BC.EXEEk
{7 (mm)
M4: EihZ 4
i % 075
! /7 M30x1.5
S
85 L=154+58 |ps| | 45| =@
125 _ s
L=EEHKE L=255+17%% 95
g W,
a4 . . N\
BC.EXEEk
{7 (mm)
M5: EEREihE %
a75 E 10
M30x1.5
. / ~H  R15
g - |
s e T\ @16H7
5\? 45 125 20
AN
95 L=255+1T7% L=EEHIKE+5 52 |
L Y,
e . . N\
BC.EXEEk
A7 (mm)
MD : B S [E)#F
45 14
= 075 iy
e-Ms||* o I N s [
é‘\@ EEE E? o ]‘_} 2
N —| o] J__ —
4-M6 ]
suo, o . —1]
60 16
75 L=FBHIKE L=255+1T#2 64

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

03




IKUKEI’

Fere DAV

- N
BD:SiAFHEX -
B (mm)
M1 : Bilim 55 & 5
47
d
a75
4-M8V 12 o C% /o M30x1.5
SE —
2 © =g ===t
- sl [as| g
56.5 L=216+177% 95 i
87 ©
N\ Y,
s - : ~
BD:SikFEX .
B (mm)
M2: BIE=R %
87
§ M30x1.5
N
) N dq
4-011 ©
95 47 20 45 ﬁ‘
110 L=217+f712 75 °
N J
- - \ N
BD:SixFHEX N
7 (mm)
M3: EPzC R RE 2R 4
87 47
g
o JEEE e
ﬂ g
A son ‘% S
af | @é/ LIg18% 11 i 2
45 ©
9 100 < | L=145+17%8 10 in
130 L=217+572 75 °
N Y,

RARRSEL - 189-1589-6797

03 1 Technical Service Line www.china-kuke.com




IKUKEI’
=R Z VeSS

- D
BD: ik FHEL -
7 (mm)
M4: Bih
] M30x1.5
2-$20g6 3
[ o
[ 31
S
47 L=154+17%2  |25| | 45 5
L=216+177& 95
- _/
e . . N\
BD:SikFEX .
7 (mm)
M5: BB E & %
o M30x1.5 O75 %
= u R15
g = _
° e | B16H7
o
2 45 | |25 10
A 55
95 L=224+1778 32
- J
4 . . N\
BD: ik FHEL
B (mm)
MD : B S [al#F
45 14
1|
2 8 5 =] 3 }: 2
:[_:_
47 16
L=216+17%2 64

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

03

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




KECO080

IKUKEI’
=R ES

IEHNHSE | BLALIR =R !

This drawing is for reference only, and the actual product is the standard!

B 22X~ Guide for Model Selection

KEC080-C10—S100—BC—ZP75B—MS3 — M1—C1 —

H

N

033

Technical Service Line www.china-kuke.com

KEC &5l | | £1HEESER | | BRYTIE mm| | BARESN SikmhE Sk RRFFRINE | BRFFREE REHN BIRIEREST
Series model | | Accuracy class Stroke mm | |Motor install wa Motor brand Motor power Sensor switch | Sensor switch Qty Installation mode Output connection
i ?lémm C [HUBICTR| | ey | |BC|ZiEnk| | P [#AT Panasonic| 75| 750w 1] 1| Bz | | C1 | SRS
080 | 80 P |BREEC54
=5 —= A i MS | BitfEREs | 2 29 Bk
P pryer=r BD | ZiAHEX | | M | =% Mitsubishi{100| 1000W - M2| BEZZEE | | C2 | PR
95x95 | [ oo Screw lead Y | 22JIl Yaskawa [150| 1500w Sl L M3 | Bhat e C3 | mREsL
05 | 5mm E FRAN
10 THomm T | &% petta  [200] 2000w PR v | Estaese | | ca | vams
25 | 25mm X | IEtR/EfbERRE | 86 | 8651t mipgEm | | | M5 | EERENR C5 | iFapiEk
Sensor type
*Z: KFREFBECENL (110 | 110 £t = | nen MD| RIS CX | AEtrEH)
5 & - —
Brakes S o || MX| deEs
T| FRE IRIELY
Output connection
B | WHE = —
K | R
2. 3 5.
N . R MBI
FARSELL © 189-1589-6797 2 3 5.




IKUKEI’

Fere DAV

B EA##& Specification

KECO080

RN EHREE < JRR MR >

DHATHFRAC(W)  Motor power AC (W) 750W 1000W 1500W
E.’Iiﬁ?ﬂﬁﬁ N.m Rated torque N.m 239 3 1 8 477
RERZAT-9MR mm Baliscrew diam 25

NKIERIT,

{ﬂ@)
NPN

BEEEMEE mm Repeatability C4 (C7) +0.02 P4 (C5) +0.01
RERLLATSHE mm BallScrew Lead 5 10 25
BIRIEE mm/sec MaximumSpeed

DA%EE3000rpm/mim  Motor Speed 250 500 1250
EEHEN N RatedThrust(N) 2550/ 3395/5092 (1275 / 1697 / 2546 | 510/ 678 /1018

BRYTEE mm

Effective stroke

50~1500 ( SOiElfRinterval )

Home Sensor

HiMERESE  Magnetic sensor

AKIETIT,

|

{ﬁ@ {
PNP

’—"7 O +1F
7 %]
ae 28 |
T 5~24V
2
| Ee -
Re

N e N

\ ATIZEBI 2000, SFEAESRATIRIR, ERHEEE R
v U EEEEMBERTISEEMNME, WiTEMK, NESEMBEELRK;
v ERIMEZEEAHNKS TER, ARANESHRSHFSERERR, URHREELNY;
« EMARERIE, HIBRNRTRERRE, SFEERKMRNDIAEEE;
+ When the stroke is over 200mm, the run-out of the ball screw will occur. We recommend to low down the working speed under this circumstances.
+ Above repeatability is within strok 300mm.,if logner travel needed, it willbe lower;
+ Please cooperate with external guide rail or guide rod and others guide device asured the Straight movements;
+ Please note figure 2 motor size is same with table 1, or needed to replace coupler and motor holder.

B B5LEEIEEASE Anti-rotating Accuracy

E— : WO L EAESE

Anti-rotating Accuracy of Ro

B —

MEMARTER R EEMAZERAN, EABTRESIEMRGRERER,

d

E=

Anti-rotating Accuracy of Plate

: SETEERIIFLLEIEEEE

% Avoid using the electric actuator in such a way that rotational torque would be applied to the piston rod.This may cause deformation of the
Anti-rotating guide, abnormal responses of the auto switch, play in the internal guide or an increase in the sliding resistance.

B 5iimEEAT, Front-end connection mode

C1 : HMERE

JEP

C2 : IR

M36x1.5 M30x1.5
0 0
— —
3 33
@ ok
b H - =
-V
25 45 25
95 70

34

30

M20x1.5

( @ ®
& (5T 0050
N4 LJ\% -
@ @
B =
SHADFLERNTE, NARLH, HMERENENRS,
C3:mEEL CA:vEEES C5 - AL
F-M20x150U F-M20x150Y F-M20x150F
] i1y oofn =
Fh s TRl 3 : PR <ccos3
33 @20H9 40 S 22 10| &
80 s s KECO080
102 HH @ .
100 9 ° -
77 3
S 020 102
|7 &% <

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

03




035

KECO080

IKUKEI’

Fere DAV

P N
BC:EirEEX .
{7 (mm)
M1 : Blim s R
4-M10720 | 095 M36x1.5
L)
N 8 g
. fr— eFTig g
° 25 45
L=EaHEE L=331+177% 95
Y J
r . D
BC.BiXEEL o
{7 (mm)
M2: BE =R
1] qué M36x1.5
o ® ® E’E
N~
&J@ @ ﬁ, ] >
L
o1 T 25 45
L=FENIKEE L=316+{T7% 75
9 J
e . . B\
BC:EirEEX
Bz (mm)
M3: EMK R PE R
| _40_ oos % 5 M36xL5
®
G =kl
2 1S s
N % hl Las
{ L=167.5+{T52 12,5
L= L=316+177& 75
L J

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
E=mN N ES

KECO080

p B\
BC.ZiAEEL
{7 (mm)
M4 : Eif& s
j ~Hl 09> M36x1.5
:I@@ﬁ %EE —————— : 3%
) \&ﬁ Mi l S DN
2-025g6 ] A -
) — L=195+{T5& 45
14
o0 L=EEAKRE L=331+f7%2 95
L W,
- : i ~
BC.EiAEEL
{7 (mm)
M5: EERE R %
= 095 T 14
M36x1.5 = nl 1M
@ ® . %;_ - R15.5
A 020 | 8
— N~
N N e _E [ [ \@16H7
@ @ ' ' o =
45| |25 B
50+0.1 20
90 95 L=330.974+{752 L=EEASE+5 56 |
180
L J
- : : D)
BC.EiAEEL
A7 (mm)
= 60
MD : Rij S [=]4F i
o (T ® 095 =__
RS — -
» @, 0 E |
o) 2848 S &
O | —
B G@‘ ’@IS
e — -
4-M6 80 20 ] 20
95 L=EAEE L=331+17%2 70
L W,

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

03

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




IKUKEI’
=R ES

‘ a
BD:LhiAFEX .
{7 (mm)
URETE L= é 11
O} (@]
4-M10720 &\\/f‘@ o E‘; s M360Ls
& ﬁ S | S
9, =3t
72 65 22 145
138 L=280+{T2 95
~ ),
N
BD: S FHEL .
{7 (mm)
W2: BTk 2 R :%%@ fh
[¢) (o]
o® @ o) |
i —©)- =ikl
Fen | s
_J 4-@13
120 65 25 45
138 L=265+17F2 75
150
N Y,
a . . N\
BD:SyiAFtEX
138 65 A7 (mm)
N3: BN RE R j%%@ e
O (]
%l__ﬂg R CE/E 5 M36x1.5
® ©
3 @&J@ G187 s
"~ a @ :é 45
125 = L=167.5+1718 12.5
149 L=265+{752 75
~ ),

ARG €L © 189-1589-6797
037 Technical g: rrrrr Line

www.china-kuke.com




IKUKEI’
E=mN N ES

KECO080

p D
BD: Sk FHEX
B (mm)
Wa: ErkiiZe s e
° R Fzzzqr1
o) =i}
2-825g6 . \\éé:o} f a5 =
ﬁg 65 L=195+1718 25
200 L=280+{F12 95
),
- - i N
BD:SyiAFFEx N
{7 (mm)
v REMEMRE 1
e o |R M3exLs o e H
H R15.5
ant 32 | g
4 NES | @16H7
® ]
5001 45.1 123 8l
90 95 L=296+{712 36 |
135
Y,
- - ; N
BD: Sk FHEL
7 (mm)
MD : B S [E1FF 60
45 20
s \® :_ :_
Kl |
= A NEERE = 2
0 @’@L -
20 65 H
%5 L=280+1782 70
),

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
=R ES

IEHNHSE | BLALIR =R !

This drawing is for reference only, and the actual product is the standard!

B 22X~ Guide for Model Selection

KEC100-C10—S100—BC—ZP75B—MS3 — M1— C1 —

H

N

039

Technical Service Line www.china-kuke.com

KEC &5l | | £1HEESER | | BRYTIE mm| | BARESN SikmhE Sk RRFFRINE | BRFFREE REAR BIRIEREST
Series model | | Accuracy class Stroke mm | |Motor install wa Motor brand Motor power Sensor switch | Sensor switch Qty Installation mode Output connection
i ?T:mm C [HUBICTR| | ey | |BC|ZiEnk| | P [#AT Panasonic| 75| 750w 1] 1| Bz | | C1 | SRS
100 | 100 | | P |#ABECS%
=5 —= A i MS | BitfEREs | 2 29 Bk
P pryer=r BD | ZiAHEX | | M | =% Mitsubishi{100| 1000W - M2| BEZZEE | | C2 | PR
10x110 | | Ball Serew Lead Y | 21l Yaskawa [150| 1500w Sl L M3|BMEURREE | | C3 | Rk
05 | 5mm E R
10 | 10mm T | BiX Delta 200| 2000W il M4 | Bt C4 | YEUESL
20 | 20mm X | IEn/EftbmiE | 86 | 865 RiRIggssR || | M5| REEH C5 | iFapiEk
32 [ 32mm Sensor type
*Z: KFREFBECENL (110 | 110 £t = | nen MD| BISAF CX | AEtrEH)
5 & - —_
grakes p PNP MX| JFtRER)
x| FTRE IREEEY
Output connection
B | WHE = —
K | R
2. 3. 5.
N . R MBI
FARSELL © 189-1589-6797 2 3 5.




IKUKEI’

Fere DAV

B EA##& Specification

RN SRR < R A Nimna >
DHEIEACW)  voorsonerrc | 1000W 1500W 2000W RARTRR IR < IR B
LAHH%E N.m Rated torque N.m 3.18 477 6.37 J— e
BTN O +1E
(ae)
iﬁﬁﬁﬁ'ywé mm  BallScrew diam 32
26 bC
N NPN F 5oy
ESEMEE mm  Repeatability C4% (C7) £0.02 P4 (C5) +0.01 4% I
l Be #
RERLLATSHE mm BallScrew Lead 5 10 20
BIRIEE mm/sec MaximumSpeed
Dik45333000rpm/mim  Motor Speed 250 500 1000 e
ANKIERAT
e N RatedThrust(N) 3395/5092 /6800|1697 / 2546 / 3400|848 / 1273/ 1700 {EE‘) 3
BRUTIE mm  Effective stroke 50~1000 ( 50afginterval ) PNP
[RAAERIES Home Sensor HWiMEfEREE  Magnetic sensor |
X1, TIZHBT200/T, SAHIRATRIE, HRNEERE I,

N e N

B B5LEEIEEASE Anti-rotating Accuracy

E— : WO L EAESE

Anti-rotating Accuracy of Rod

_

MEMARTER R EEMAZERAN, EABTRESIEMRGRERER,

v U EEEEMBERTISEEMNME, WiTEMK, NESEMBEELRK;
v ERIMEZEEAHNKS TER, ARANESHRSHFSERERR, URHREELNY;
« EMARERIE, HIBRNRTRERRE, SFEERKMRNDIAEEE;
+ When the stroke is over 200mm, the run-out of the ball screw will occur. We recommend to low down the working speed under this circumstances.
+ Above repeatability is within strok 300mm.,if logner travel needed, it willbe lower;
+ Please cooperate with external guide rail or guide rod and others guide device asured the Straight movements;
+ Please note figure 2 motor size is same with table 1, or needed to replace coupler and motor holder.

E=

Anti-rotating Accuracy of Plate

: SETEERIIFLLEIEEEE

% Avoid using the electric actuator in such a way that rotational torque would be applied to the piston rod.This may cause deformation of the
Anti-rotating guide, abnormal responses of the auto switch, play in the internal guide or an increase in the sliding resistance.

B 5iimEEAT, Front-end connection mode

C1: HMEL C2

M36x2.0

: PSR

M30x2.0

&30

M36x2.0

M30x2.0

JEP
JEP

25 45

95

50

41

M27x2.0

( @ ®
& (5T 0050
N Lj\% -
@ &
=
SHEMFLRESE, NIBNTR, HTERMm RS
C3:mEEL CA:vEEES C5 - AL
F-M27x200U F-M27x200Y F-M27x200F
[/ ]
F) IR 13- 3 o SRR EC063
— 2 35_ 2
51 @30H9 55 S| 34 10| &
T 110 s S KEC080
139 Hi g .
145 2 =° -
x
110 § 230 121
1@ E
|7 &% ~

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

04




IKUKEI’
=R ES

Vs )
BC.ZiAEEL
{7 (mm)
M1 - BT B 22 5
£M10720 ~Am o M36x2.0
O E
AN
— 25 45
89 L=EIHEEE L=358+{T2 95
Y J
- : \ ~
BC:EiXEEk N
B (mm)
M2:BE=2R %
%% 0110 8
_ /7 M36x2.0
o ® ® o
- \S* ° s
o~ 00 = _
4-913 150 30 2
180 L=EBNKE L=358+171% 77
9 Y,
s - - N
BC.EiAEEL
A7 (mm)
M3: B S R 22 %
40
i 1] -0 o0 Y seeo
o iz } % g 5
19 a5
5 @ 45
140 | L=206+17%2 [ | 15
‘ 170 L=EHUK R L=358+17f2 77
L J

RARRSEL - 189-1589-6797

04 1 Technical Service Line www.china-kuke.com




IKUKEI’
E=mN N ES

- N
BC.ZiAEEL
B (mm)
M4 : B 5% %
@ [ o e
& : ik
2-830g6
— | | 45
140 L=221+4§*§ 25
210 L=EBHEE L=358+4T2 95
\_ J
e . ; Y
BC.BIXHEX N
{7 (mm)
M5: EEIE R
110 14
fg‘ M36x2 . . L] ""‘\. 1
@ &)
© 1;?'— R20
0 S| 3 &
a — NE :‘— @20H7
E] & -
45 | |25
00. 20
95 L=358+17%% L=FBHI<E+5 61
\_ Y
e . : A\
BC.EiAEEL
7 (mm)
e 80
MD: B S [a)4F 60 _| 8M8 20
g ° S A m— =
3 &
nnIENIEEEE ° IH s
Y (3 & O JL_
& B a
o ©® . — -
4-M10 90 20
110 L=rEHUSEE L=358+{772 70
\_ J
BARSEE : 189-1589-6797 04
Technical Service Line  www.china-kuke.com

KEC016

KEC025

KEC040

KEC050

KEC063

KEC080

KEC100

KEC125




IKUKEI’
=R ES

/
BD:SAFHEL v
B (mm)
M1 : Bilin = &2 2 %\"‘\
° e = =
4-M10V 20 on dO} E CE‘; o110 M36x2.0
. ; A g 2
\S) e
29 65 125] 45
138 L=306+1718 95
N
BD:EiXFEk v
B (mm)
M2: BTsE L 2o %ﬂ
| |,
) 5 o 0110
R q 8 M36x2.0
NG ® o
o@ @o 9 45
4-313 138 65 30
150 L=306+17F2 77
180
N
e . .
BD:SAFEL
138 B (mm)
M3: B S R 22 % %\‘*
< e “ﬁ —
i_@ R 9 g%/DL0 Y s M36x2.0
o 4-13.5 b '5
0N é@\J@g L1@20V 13 g
45
140 65 ‘ L=206+17F2 15
‘ 170 L=306+17F2 77
NG

043

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
E=mN N ES

‘ ~
BD:&ixFHEx I
A, (MmMmm
Wa: Btz =
O, (0] |_|
N .| ==
@% (\ GZ = §,
7/ J g S
2-930g6 "
138 65 L=221+1778 25
140
210 L=306+1T12 95
J
e . . N\
BD:EiXFEk s (o)
A, (MmMmm
[ ]
M5: EE e =
RBEMZE _ 1
o |
(] S M36x2 =
TN § o R20
g ° :‘j @20H7
60+0.1 45 | |25 81
110 95 L=322+{Tf a1
135
J
e . . N\
BD: Sk FFEX I
N, (mm
N 80
\® ——( K
[®) (]
AN -
2 o |[2888 & FHE g
e 1, -
0 G B
. © — -
. 65 -
4-M10, 90 20 -
110 L=306+1572 20 KEC100

RARRSEL - 189-1589-6797 04

Technical Service Line www.china-kuke.com




(EFHTEETEEIN IKUKEI’

Precautions for operation ST DAl

PEset Ve 2R

Safety Operation Instruction Manual for KUKE ARM

RSERERIMT, AT ZRLERMZHTMNERERIATF, BELAERAEZERIMFERRLRAR HERETEIUEEST,
MR BIRBATERIRIE, FRESIBIFNEFESHS, TARERTIEARNES . REESEANREEY.

Thank you for choosing KUKE ARM . In order to design and use our linear actuator safely and accurately, please be sure to read the following
safety operation instruction manual carefully. If you don't assemble the products according to the specificationsQ the consequences can result in
failure and damage to the machines and also serious personnel injury to employees.

SHERKERNZEZE The safety warning of working conditions

ERAMFR—MEE SRk M RA\ B, FEEFFEENMRMENNE I AREENERAR"R.
In view that KUKE Arm is a precision linear module with high speed and response, only professional people who have rich knowledge and experience
about robot can operate them.

A XEWERGH, 55, FEFERANFETER, RASEMREE, 51X, BIERRE.
Robot Arm should never be assembled in environments prone to flooding or where water can come in contact with the machine. Neither should it be
used in the vicinity of corrosive/flammable gas, by doing so you risk exposing employees to electrical shocks and fire damage.

A XEWERZMK SEBESE, FRESENTFETER, RASBMERARNERE.
Prohibited to be used in conditions which can be considered flammable, that are easy to cause fires and explosions, by doing so you risk burning, fire
and explosive hazards.

A MEIFEARBETR, BESKE, THRERTRFHETER, BASER~RKEEFRE.
Forbidden to be applied in the environment of electromagnetic interference, static electrical discharge and radio interference because they will lead to
serious product malfunctions.

A FE: EREMEAANTR, BERIAMEE THEGEEN.
« REBEHALRHNITE
o ARRIBHPT RABINMAS .
 ERAHFRETE0-40RKE.
< REBS%UAT, HHEHNERE
 Please make sure that the environment meets the standards of following operating conditions when you install and use our products.
Place within no direct light
* No influence on the machine itself by its radian heat of pyrotoxin
¢ Used in the place of 0-40 degrees Celsius
* No condensation in the condition less than 85% degrees Celsius

LRFIRENZ L EEE Safety warnings for installation and operation

BERAR=RATEESD, BEZLMNHFUEEREMRITZ2 R SIRMEARTEEARERIPAERRN, —EERT2ER
. MNTEERN, BZLERTRZEERN, FARLBENFSEENANEE.

When you apply this product with other devices, please make sure to design an individual optical grating within the working stroke of linear actuator.
Scram button must be pressed before the operator needs to get into the range of working stroke. The electric motor with brake must be used when it
works vertically. You must be aware of the falling of components and parts when taking out the electric motor. Please read carefully the technical
parameters in the Model Selection Information of KUKE ARM.

BEMERBF A= RBIITREMEML.

Under no circumstances can this product be transformed and manipulated.

WEERHAR=REDZRENMERNNFNRRFRGNREZE, FTRETIMNBESHRE SR,
Before the mechanical and electrical inspection and maintenance, you must confirm the security of the product systems especially its peripheral
devices and power connected to machine.

BZERS=REN, BRARAIBLEESLRERGE TREDBITRHRBEEINRIRLE.
When you install this robot arm, make sure that every screw is locked in tightly as requested or it will lead to dangerous accidents if running
automatically.

WREEFRAEAERE T BYRERERTFASHE, BELERETHENRFaF ez R ERTEERFRRIFIME.
The power supply terminal and Amphenol connector of electric motor and cable ahead of driver are high voltage. Do not use them before installing
attaching terminal fender apron and hands off after power on.

RARRSEL - 189-1589-6797

045 Technical Service Line www.china-kuke.com




IKUKEI’ (FRZETEEIN

AR ES Precautions for operation

WS EARRIZENERL T TEEFXNRRIFE, BNSLEREE W& mBEmEl.
Do not install and disassemble any connectors when the machine is powered on, otherwise it will lead to wrong operation, malfunction, electric shock
and other dangers.

WEVEEDIMERIREE, BRI EREURSASIR, BERARSNERBHITIMAERSHE.
There may still remain high heat in the electric motor parts even after cutting off the electricity. Please do the mechanical maintenance and inspection
before confirming the safety situation.

B A=RETHEAEFEREHERANNIZIFILER, FEAQRRAXTESESHINER, BrEERBSERERAS.
Please stop using it and contact us immediately when the runtime exception occurs and components are damaged. You should operate the controller
and electric motor in strict accordance with reference operating instructions.

RSN IIZ L TR Safety attention for warning marks of this product

AAFBEERESTR, TRSERBEIEEMSREL;

ABEERT N ERMITZHI R R TR

BEHREEI NN BERRSXFARERIPLMINTURAEER.

Do not remove the warning marks without permission; this may lead to dangerous accidents by those not able to see the markings.

Pay attention to the machines or components nearby which may cover the warning marks .

Please make sure that the pictures and words on the warning marks can be seen clearly and obviously from the safety protective grating.

A\

AR BERSURAPBTAEENAMBXTREMBENAT, FAEAZERR"RMEEERBEXREEM, FATHRARD~RER
Z2URP, SRERENENEASY, ERMZHNERERS~R, WERAESALTRARARKER.

Attention: We can't explain all the safety items in details in this safety operation instruction manual. Users should operate this product in strict
accordance with some relative safety regulations to understand what we listed in our safety operation instruction manual for KUKE ARM. You are
required to design and use our product accurately according to the technical parameters in model selection information. If there is any question,
please contact our professional technicians.

' VI INIINI

DU, {EREGEYEP Service life and maintenance

HEEEI R E o E ERURA T 24T AGA R E S . RITMWITEHARNABEDATLIL EEMERZRREBNES, ETRMNEE THHEZT IR,
fERBTEARRE, MEFEARHSEEZM. FURERHAE. BGEGEN, RREMLITERSMETIE, UEERASFG0%TE.
WIS ES ] 2241 B4 _EiEEREeB7324-199418 A 1B EIiHiEAE3 S .

WS TAEIABI300/M AT /G, RIXTEBARHITAMN. RIBERANIMEMTRBITHIR EIRFAE MBS, —RERT, §200/58TmM—%
WEk: FEEIINE ERERTLITI, a4, HRBIZAE EAEmTL, SENIEER.

W85 ESK: GB7324-199418 FI$E £5i8 g3 S .

Lifetime of electric cylinders depend on the ball screw and bearing's lifetime. In our design, loading ability of the bearing more than ball screw,
metal fatigueis the main influencing factors, but the different of speedN load. acceleration. working time will also affect its lifetime cycle, so its too
hardto accurately calculate .It is a suggestion for estimating to calculate by 90% of the service life as the same screw is running under the same
environment.

M Electric cylinder is refueled with lubricating grease GB7324-1994 general lithium base 3 lubricating grease when eaves factory.

M After electric cylinder has run for 300 hours, refill the lubricating grease. Refueling frequency, per 200hours one time as usual, is determinedon basis
of the operating environment and day-to-day operational time.

M Refuelling method: ope the filler hole on the shell of electric cylinder, turn the screw to find the filler hole on the screw nut and refuel lubricating
grease.

M Requirement for lubricating grease: GB7324-1994 general lithium base 3 lubricating grease

RARRSEL - 189-1589-6797 046

Technical Service Line www.china-kuke.com




(EFHTEETEEIN IKUKEI’

Precautions for operation ST DAl

PSR FRIEERSRIZSE R

The warranty and statement within the scope of guarantee for KUKE ARM

{RI&5&In Clause of Guarantee

SERMEEBEFRIEEERXAEN TR |

The following are some regulations related to the warranty and the scope of guarantee :

—. RIEHARR y Warranty period:

REHARB LTI, A& EEIsAEIE A IRE R .

1. AERARWE181MA.

2, BREEMI2MA.

3. fEFIRTE]2500/)\Ft

This warranty is effective for a period of :

1. 18 months (one and a half years) after shipment from Taiwan factory,or
2. One year after installation or

3. 2,500 hours of actual operation whichever comes first.

—. {®¥&SEE Warranty Scope
ERIEHAIEKUKEF™ MR SESEE MR, FREIKUKEL (B R MAHEE LR IEREE AR, KKEAR SRR BRHE.

We will repair and maintain immediately and at no extra charge the malfunctioning products caused by our faults during the stated warranty period.

— ERFASEARBICHLOMIFNS. FRPRERER S RIBEERIRT.
= BT A YSFERNEREEENEM 5 RSER T
=, #REREERHRT A~ RUAIMIREEW 5 RASBERIRT.
M. AT EASER AR SN 5 EAESBE R R .
B MERRBEREHITERLBLXMNIE. HEE. FEITEITEOE URALEHEE USMIEIRM 5 ABE R IRIA
7 ERLRHEE USMNIE R R S BHIBE KRR
£ BEFRERQRNNM, THESERR, MRIATNNME, T IRl FBEOIEE. WEFMSIRNBIERIIT.
AW *E?EF!@%—T’HTE’]*FFE%E‘Z?K?E%%EE’JEﬁﬁ%liﬁ’]ﬁif‘a&?ﬁﬂo
e BKR, #R kR, B HfERR, T, A% BF. SEGE. FERE. EMSMNRRET S EAEER TR,

SHoh, MALFTREIRIEMN R T AT 82/ mA S, B35 maNapeEm 5 AR MR AR T ERIETERE

Any malfunction caused by the following situation is not covered under the warranty scope:

1. Breakdown and damage led by the mis-installation and operation beyond the condition that stated in the sample and specification book.

2. Breakdown and damage caused by misuse and non-correct operation and management.

3. Breakdown and damage caused by the factors beyond product itself.

4. Breakdown and damage led by the malfunction beyond the operation way of the product itself.

5. Breakdown and damage caused by later individual and personal transformation about structure, performance and specification as well as the
wrong repair.

6. Breakdown and damage led by the installation of components which is not according to the requirement of our company.

7+ When you equip our products with your machines and components, breakdown and damage caused by your fault using the machines and
components that are not the general function and structure in our robot industry.

8. Breakdown and damage caused by unforeseen factors of practical application technology when buying our products.

9. Breakdown and damage caused by external reasons like fire, earthquakejlooding,thunder,other natural disasters, geographic change, public
hazard, salt injury, gas harm, abnormal voltage etc.

In addition, the warranty only applies to the delivered goods itself. Any breakdown and damaged caused during the period of logistic is not in the scope
of warranty.

RARRSEL - 189-1589-6797

047 Technical Service Line www.china-kuke.com




7 A==
IKUKEI (RS TEEI
AR ES Precautions for operation

\ /

FARSELL © 189-1589-6797
Technical Service Line www.china-kuke.com 048




>2EZAB IKUKEI’
Reference s T T

XEEENEIE#pRYiTE Electric cylinder Actuater Service Life

BN Em—AREIREEINSERNLILE®, ASARRS, —2LIANKSEFw,
TANBIHERE; Z— 2RSS, BRTERFN WRE. kL. ERIEE #0fhs
FEHRRFHINERFE) .

Electric cylinder life generally refers to the use of electric cylinder internal screw life can be
divided into two parts, one is the fatigue life of the screw, it can be obtained by calculation; another
is the service life depends upon to use conditions (such as temperature, dust, use kinds of
lubricating and regular maintenance frequency and so on).

ERESEERELEEE. UTREIANESZFHITELE.
Life is often obtained by experience. The following is the calculation method of the fatigue life
of the electric cylinder.

L10=(Ca/Fm ) XL

L10: HEEIAIHEd, BfAL: km

L10: electric cylinder life, unit: km

Fm: BFEIAZH TG, BA: KN

Fin: electric cylinder bear the average load, unit: KN

Ca: ZiIZEBHNEATERNRAE, BI: KN (AIBTLIHAEL)
Ca: screw nut of the basic rated dynamic load, unit: KN (can be detected through the screw
sample)

L: 24153, BAL: mm
L: lead screw guide, unit: mm

o /

RARRSEL - 189-1589-6797

049 Technical Service Line www.china-kuke.com




IKUKEI’
E=mN N ES

Z2Z 87 H

Reference

XIEEESITE Linear Actuater Service Life

RBPHE S ERZBORTIRKIBAT, LB ERM, EHEARXAT:

Service i fe depends on ba | | screw , LM guide and bear ing,Calculation method as below:

1. M LM guide

ft C |3
L=(—-=) x50km
( fw  Pn )
L: $iE%H 4 Rated life (KM)
fw: AT &% Load coefficient (HEFK Ref table 2)
Pn: T{EfAfT Work load

= Tabie 1

BRE ARt
Slide-type Contat coefficient
8 R 10

Single sliding block
N iE R 0.81
Double sliding block

%= Tabie 2

ft: FEfRZRH Contact coefficient (&% %K Ref table 1)
C: EARBhEE $1 77 Basic dynamic load rating (N)

T 'f"F ﬂ; i% Work enviroment

Impact vibration

71 R #fw
7T ROR s Load coefficient
T.:)adjstatus & B Speed (V)

7 & 5 ¥R V < 15 m/min 10~15
Non-impact & smoth

EREopsl 15 m/min < V <60 m/min 15~20
Common load power

BMET RIRHS V > 60 m/min 20~35

2\ RERMEAT M 4K Ball screw & Bearing

L:(l.C_a?’

6
fw Pa.n x 10rev

L: EixE#Fr Rated life (KM)

fw: fAfar & Load coefficient (%K Ref table 2)
Ca: EARTNEE faferB asic dynamic load rating (N)
Pan: #ET{EfAf Axial Work load (N)

X ENotes: D EAXRFNFERTTSH TSR

1REBMBCE PR ;

Basic dynam i c | oad rating parameter with reference to instr uct i ons for li near actuator conf i gurat i on;

A @, BEITI002 B FEEBE—X, ATEHEKTHNERE®.

Lubr i cate grease fitting once as runs 100km, the components serv i ce | i fe may be extended appropr i ate ly.

\

/

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

050




ZZ R H

Reference

XEEHIMEZR Motor profile size

IKUKEI’

Fere DAV

LL LR W e
LF LE oLC 1oLz LK | &
;
N
=rERE
i S Q

C OLA
S ARDEIHRT
Votorpewer b L L+ LR | S | LA | LB | LC | LE | LF | LZ | LW | LK | KW | RH | TP
0.05kw | 72 | 102 | 25 45 | 30 | 38 | 3 6 | 34 | 14 |[125|3h9 | 6.2 |M3x6
010kw | 92 | 122 | 25 | 8 | 45 | 30 | 38 | 3 6 | 34 | 14 |125|3h9 | 6.2 |M3x6
0.20kw [795| 116 | 30 | 11 | 70 | 50 | 60 | 3 | 65 | 45 | 20 | 18 | 4h9 | 8.5 |M4x8
0.40kw | 99 |1355| 30 | 14 | 70 | 50 | 60 | 3 | 65 | 45 | 25 |225|5h9 | 11 |M5x10
0.75kw [112.2]149.2| 35 | 19 | 90 | 70 | 80 | 3 8 6 | 25 | 22 | 6h9 | 15.5 [M5x10
1.00kw |127.2|164.2| 35 | 19 | 90 | 70 | 80 | 3 8 6 | 25 | 22 | 6h9 | 15.5 [M5x10
1.50kw [155.5|182.5| 55 | 19 | 115 | 95 | 100 | 3 10 | 9 | 45 | 42 | 6h9 [ 155 | —
2.00kw [174.5/2015| 55 | 19 | 115 | 95 | 100 | 3 10 | 9 | 45 | 42 | 6h9 [ 155 | —
3.00kw | 186 | 211 | 55 | 22 | 145 | 110 | 120 | 3 10 | 9 | 45 | 41 | 8h9 | 18 | —
4.00kw | 205 | 233 | 65 | 24 | 145 | 110 | 130 | 6 12 | 9 | 55 | 41 |89 | 20 | —
5.00kw | 240 | 268 | 65 | 24 | 145 | 110 | 130 | 6 12 | 9 | 55 | 41 |89 | 20 | —
MET  LULEBEHIRISE M TA6-MSMFRFIENRY , BfImm,
S SR DKIHRT
Votorpewer b L L+ LR | S | LA | LB | LC | LE | LF | LZ | LW | LK | KW | RH | TP

28 51 — | 20| 5 |23 | 22 (282 2 | — |[M25| — | — | — | — | —

35 47 | — | 24 | 5 |26 | 22 |352| 2 | — | M3 | — | — | — | — | —

42 60 | — | 24 | 5 |31 | 22 |42 | 2 | — | M3| — | — | — | — | —
56/57 76 | 116 | 21 8 [p47.14/ 381|564 | 16 | 5 5 | — | — | — | — | —

60 8 | 125 | 24 | 8 |50 | 36 | 60 |16 [ 65| 5 | — | — | — | — | —

86 129 | 163 | 32 | 14 |069.6| 73 | 86 | 2 10 | 55|25 | — | 5 1 | —
110 201 | — | 35 | 16 | 089 [5552| 110 | 2 [122| 83 | 25 | — | 5 13 |M5x10
130 230 | — | 45 | 19 |@155| 100 | 132 | 5 0 | 11 | 30 | — | 5 16 |M6x15

K T LULHNRTSEER, ISEESHEN , Bimm,

RARRSEL - 189-1589-6797

05 1 Technical Service Line www.china-kuke.com




IKUKEI’

Fere DAV

B

X(EBRFEESNEIANRIERL. SELRIXIEL

= B H

Reference

B3 =f] &

MR [E &1

P R EEME A ] S A0

[RIERA S, YEIRFNRIE

2 4 %, SEEHETRHIREE | RARK.
BHRE.
Zi%, BEEMEF (FIik EELERNNEEBE-R LM RK, FEMNE
= T 3 $0.01) , EBNIMEZR ERIIER, BRREH IR & A0 25 B TR 1R I B
1ETheE 1T. %, BAEEHIIRIT.
B ESEAIESEIEHNR fg;;gﬁwﬁ%fff‘li AE2AELER, EHEER
2 EZBMRIEERIED. RS - JREIET, B (EindEee R E . AT
gl e
e, BETEES, BE | HLUSHITEH, BHREEME | INEEFMAETARE
o OE L IERE MO. 53 EmMT, TREEMER | K. RESIFBES 5
1500mm/s o ThAEYIE) R R
EERNEMNMERAEGRE | iEREEHRE, REEE | IisRIEEHR, Z5EE
o] £ M BUEE. EFIRMEEE. B, BHERSME, E IR EERME, TR
JLERTFELHR, MR THIPNRIERTFH | T
E.I’%’l‘io
£ A350KN. ERDILVEARZIRE, 3177 | TEBIT10KN, —RRAF )
H A RIBEK E.
EFELH TALLUARLA | BURA TS ASHEERE | BUOR T MBS ERE
B & & FEH, EZWNESS. i, BERKF. i, BERKF.
FHRRSHHEEETEE- EMIHEETAREINTE | AHRERE TUREEITE
7 20FEN120E, KAEEHHE BIE)E, Z|EHFTREST BIE)E, Z|EHFTREST
SRR 2, ERENEEtbHk | B, E5PHESTRSS
HERF o).
INRUTE, ERFERNE | AFERAERANEERER | WAERSAMNEERER
hRZE, 2T EESHDY | T %o
& E I 88 Eo
RIS ASE, HPFRE | BEHEREBRERK, FE% | BHEREABERE, FTER
AN ARATRIK. RMEFRARS, AR | KNEPRARS, £
EHEERARS. RYUMEENSESNAR
FhRZF.

/

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com

052




ZZ R H

Reference

WHPER R RTTE

IKUKEI’
=R ES

SIS IRE 5 HE bR 77 &
S EEREEASHER SHRIEFRRIBSELEREIIOE
. RENEFSEUERIREHIHIR REENESIESEERRERTIERRESEH
BB SERELERN R R EEHRIA BRGNS R R SZHRAE AN
HAINGET KU AEfRLRE | EEEGESARRESRARE RS
=AU PN ERHTNARENE , NS KBNS
R A HASRGEENEER K SR RER D TR R s B R
EBHLISEFRAITh R R/ IEFRATHERATEEMN
o thE SEBiTHE TR AR S EE G KRR ThEE
BATEED - *
EEANIRAH IS/ {(EFRIRLEMAS
EEMNEEIRIT K RVEBHERIR | B FFEEEAIRVEEIRE K
SRR S I IE TR Y AR R R )
. LT RIS EIREE SR SH8AILAT SR
BITIRERX . —
24TRiE TERRLALLAT AN EIEiB HAg
CEZEIOE ELHERES KRR
EEMIES SRR IR E{RATYEEMN
IRELERRAFFK IR TRIRAIBRAIIF K
BREFFRIESHRIENESIZE EEEHIRSRUFXES
EHERERPREBRUAXES | RUFXEGESHENEHREFHEZIET
inEE ISR TEIEAHIRETRSEURMENIEKX REEFCRNGEHTRE , SEFEREINRE
RS ESHERRIERIRE | BRI B NIE SRR
EEREMEETERMEEFES | CNIKTREEFSEHIEREBE , HIREELTREIES
BKESITEFHEESR ERIRANRSEHTIETI , B FR
EIS AT R A E T EE , R IR AR R s S
ITHR | ZATINTROEREXR FRINTHROERFSIRITRTEERK
BUTE S REITIT RIS TRIGR BRI
ESHTFKE ELERESEIKEE
i RESHMNEREX BERESLFTHEEVE
[RHRE | RS RIE TR ENRESEIEIREL R
BRARMERE P AT A AR AR
R E RAFRES RS ERE T
- REITARZTRAES RERE , BRI IR AR R EE
K ZERROEREX HREENR OERSIRITREEEK

053

RARRSEL - 189-1589-6797

Technical Service Line www.china-kuke.com




IKUKEI’
T LA HNEF
MEMO

\ /

RARRSEL - 189-1589-6797 054

Technical Service Line www.china-kuke.com




IKUKEI

fam

KUKE CHINA

[
BT TR IRAE]
Changzhou Kuke Motion Technology Co.,Ltd.
TEL: 0519-85222250 86066535
FAX: 0519-85222250
Q Q: 452515844
E-mail: czkuke@163.com %

Web: www.china-kuke.com

BEwww.china-kuke.comaBX R R I IAILE 857

& PR RMARENR R, BABTIEA.
3. RIS R !

78

RN E

LR IERT AGENTS

-

Copyright: © Kuke Corp.
Version: V2019.09K01



